
Tom had 52 stickers 
and Sam had 24. 
How many did they 
have altogether? 

Tom had 56 stickers 
but gave Sam 27. 
How many did Tom 
have left? 

Tom had 49 stickers 
and Sam had 28. 
How many did they 
have altogether? 

Tom had 63 stickers 
but gave Sam 19. 
How many did Tom 
have left? 

Tom had 34 stickers 
and Sam had 33. 
How many did they 
have altogether? 

Tom had 48 stickers 
but gave Sam 15. 
How many did Tom 
have left? 

Tom had 44 stickers 
and Sam had 45. 
How many did they 
have altogether? 

Tom had 72 stickers 
but gave Sam 38. 
How many did Tom 
have left? 

 


